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Customary Conversions

1 foot = 12 inches

1 yard = 3 feet

1 mile = 5,280 feet
1 mile = 1,760 yards

1 cup = 8 fluid ounces
1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 pound = 16 ounces
1 ton = 2,000 pounds

Metric Conversions

1 meter = 100 centimeters
1 meter = 1000 millimeters
1 kilometer = 1000 meters

1 liter = 1000 milliliters

1 gram = 1000 milligrams
1 kilogram = 1000 grams

Time Conversions

1 minute = 60 seconds
1 hour = 60 minutes

1 day = 24 hours

1 year = 365 days

1 year = 52 weeks
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Formulas
- 2
x= 2 ivsﬁ, where a, b, and c are coefficients in an equation of the
a

formax> + bx +c=0

| B loga
Ogp a = log b
opposite
hypotenuse
adjacent
COS A= ——
hypotenuse
opposite
tan A° = L
adjacent
P(BIA) = P(A and B)

P(A or B) = P(A) + P(B) - P(A and B)

X -
zZ= Q, where 1L = mean and o = standard deviation

Florida Department of Education Updated January 8, 2015
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Algebra 2 EOC FSA Practice Test (No Calculator Portion)

A rational expression is shown.

x%_1
x4+l

What is the quotient?

R YA T
'\-t.ﬂ.',_’,«f\.,_,«f\.,i«f\.,_«f

Class: Date:

12 ]=] [x]
[« ]s]le] [+ ][+]
[7]e]le] [<][=]=]=]~]

Lol L= J 8 e[ Ba o[ va][va =] 7]

A number is shown.

—-25

Show the value of this number in a + bi form.

IR A Y T g

>\ \&)

1 23] [+]-]«]+]
I00E0E0s

7|8 o] [&][0°] Ca|[O)] 11|~ |[>a [ i
D -

ID: A
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In the cafeteria, sometimes salads are served and sometimes fruit is served. Linda notes that out of 15 days,
12 days salad is served and 3 days fruit is served. Predict how many days fruit is served in a 180-day school
year. If necessary, round your answer to the nearest whole number.

@ 144 days © 45 days
36 days ® 33 days

The table shows saveral complex numbers, whare ( iss tha imaginary unit.

Select all appropriate cells in the table where the prosduct of the two numbers is a real number,

B-2 3 i

If k is a constant, what is the value of k such that the polynomial kK z® — 6kz + 9 is divisible byz—1
?

Enter your answer in the box.
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The sum of two quadratic expressions is 3 times the difference of the expressions.

The first expression is shown.
4x?—6x+ 10

Marci's steps for finding the second expression are shown.

LetA =  4x?—6x+10
LetB = second expression
(A+B) = 3(A-B)
A+B = 3A-3B

4B = 2A

4B = 2(4x?-6x+10)

4B = 8x’-12x+20

Create an equation that shows the next step used to find B.

El@ I

48] (][]

7] llo] [<]l<]=]l2]>]

Lol I[-] [#1 B o] [»m~a n] 1]

Given that x > 0, which expression is equivalent to 5 I\Ixy +25 ‘\l; ?

-|1|

@ 50" +25x7" © x5y +5)
2557 (Aly +5) ® 5x (v +5)
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An expression is shown.

1
(64y9)§
=3

Create an equivalent expression.

Use only positive integer exponents in your answer.

.

S
N
S
Y
e

g +\|

vy
" _‘\l
Ay
)

IE@ IDEE
7] Jlo] [<]l=] =)= ]~
ol )] B ol v /]

Create an expression that is equivalent to (4)(2 +7x-9) - (—2){2 —4x + 6).

ot
|f|
L
Ty
N A
Ty
f‘\

I@@ IBBE
7)[e ][] [<]l=]l=][=][>]

o -8 oo [l uva] e ] 1]

ID: A

m Jean polled a random sample from a population and calculated a sample statistic. Jean can use this statistic

to draw an inference about what?
@ the corresponding sample parameter
the population size

(© the corresponding population statistic

® the corresponding population
parameter
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You spin a spinner with 8 equally likely landing spaces numbered 1 to 8. Event A is landing on a prime

number. Event B is landing on an odd number. What is the intersection of A and B?

® o
{3,5, 7}

A function is shown.
1
B(X) = x2
What is the domain of #(x)?

Use the Connect Line tool or
either of the Add Arrow tools to
show the domain of #(x) on the

number line.

© {1,2,3,5,7;
® {1,2,3,4,56,7, 8}

©f poteto ] Connect Line

Domain

i
T
-10 -8 -6 -4 -2 0 2 4 6 8 10
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A graph of an exponential function is shown.

o
10
i
6 /
A/
Illl("l 27N
iy ==
(0, 2)
-10 -8 -6 -4 -2 2 4 6 8B .10
-2
-4+
-6
T
|
-10%

Which equation represents the function shown in this graph?

@ y=2(3.2)" © y=32(2)
y=2(1.6)" © y=1.6(2)

ID: A



Name: ID: A

A function is shown.

Intervals where function is increasing (1), or
y= 8x2+48x — 56 decreasing (D), or neither (N)

Over which intervals is the graph
increasing, decreasing, or

neither?

Above each interval on the TH(TH T I I DT T LD T T

horizontal axis, click “I” to show D||D||D||D||D|{D||D||D||D|(D|/D||D||D| D

increasing, "D” to show LN JEN N NJ[NJINJINJINJ[NJ|{N|[N|N N/ \N

decreasing, or "N” to show AT 'e LT b T AR T ~ -

neither.

=10 =9 =8 =7 =6 «§ =4 =3 =2 =1 0 1 2 3 4

A small object with mass m is attached to a ceiling by a spring. The spring is pulled straight down and
released so that the object begins to oscillate up and down. The period T of the object’s oscillation is given

by the formula 7'=2x % , where £ is the spring constant, which describes the stiffness of the spring.

Which of the following gives k as a function of m and 77

® ko Am

47" m
T © k= Tz
k=2ﬂ:‘\/m ® k=2n,'m
T T?
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Meg deposited $1000 into a bank

account that pays 3% monthly
interest.

The formula for compound
interest is shown.

A=pP(1+ )"
e P is the principal
e ris the rate

e n is the number of times
compounded per year

e tis the time in years

Use the data in the graph to
determine which units would be
most appropriate to represent
the information in the graph.

Drag a label to each box.

2
X

Consider the equation 4 — =

1160
1120
[ 1080
1040-
10004

o :

Meg's Money

1 2 3 4 5
]

‘ Percent‘

‘ Dollars ‘

2.

Which equation is equivalent to the equation shown?

2
® 2" =2
2x—x=2

A set of exponential equations is
shown.

Drag all of the functions that
model exponential decay into the
box.

© 22x

@ 22x —x=2

Exponential Decay

y = (0.99)*

y = (1.07)~

=
y = (0.86)73 = e

y = 0.99(0.12)*  y = 0.89(1.02)*

y = (1.01)01

ID: A
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An equation is shown.
x=log(20)+ 2

What is the exponential form of the equation?

GIOIOIK)

1123 |x

dsle [+

789 |< sH=HaH>|

B R B ) M el E B

A radio station wants to get the opinions of listeners on the host of a new radio show. The station’s staff

emails a survey to all listeners who have subscribed to their online listening option. Is this sampling method
biased, and why or why not?

(® The sample is not biased. It is a random sample.
The sample is not biased. The listeners have certainly heard the show.

(© The sample is biased. Some people who listen to the radio show might not subscribe
to the online listening option.

(D The sample is biased. There is no way to know if the online subscribers listen to the
station.
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21

What is the inverse function of g(x) = 3x?— 2,x=07?

Create a function f(x) that represents the inverse of g(x).

OIOOOIC

12 x ||fix)

4 5|6 + || - | = | =

7, 8|9 <|[[<l=]=2]>

0 - || =) 07 [ Ba O 11 ][~O] WO ||| i

An arc on the unit circle is % units long.

What is the radian measure of the arc’s central angle?

® if radians (© 3aradians

% radians ® %radians

\S]
W

In the formula B = B Oe”, B is the balance, in dollars, of an account with initial balance rate » compounded

continuously for ¢ years. How can you rewrite this formula to use it to find the number of years needed to
attain a certain balance?

® t=rlni © t= InB
B, rlnBO

t=ln£—r @ [=lln£
Bo r

10
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24

\S]
94

A quadratic equation is shown.

Ax+7) =

Solve the equation and create one possible solution in radical form.

1][2][3|] x|

7 5.‘6 [+ - ][]+

7s]lo] (<)== =)=

DR R E 6 MR

An expression in exponential form is shown.

[

X

Create the equivalent radical form of the expression.

=

N

-\\I
i

LAY

)
Ill

-\I |'/_
P N

o

EE@ IBBE
7)[e o] [<]l=]l=][=]>]
1 {3 T e 9 T el A A TR

ID: A

When using a ¢% confidence interval to estimate a population mean or proportion, how does the interval

change as the value of ¢ changes?

(® The interval gets wider as the value of ¢ (O
increases.

The interval gets narrower as the value ~ ©)
of ¢ increases.

11

The interval depends on the sample

mean or proportion, not the value of c.

The interval depends on the sample
standard deviation, not the value of c.
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In the diagram below, F is the focus of the parabola, line d is the directrix, and @L d. What is the
relationship between F'P and QP?

)

4
&F
N -
Y
ya LY
~ I Cd
I X
&
Q d
b
® FP < QP © FP>QP
FP = QP (® A relationship cannot be determined.

PAY Marsha wants to know what local people think about the new city tax. She sits in a hotel lobby and asks the
first 50 people that walk in how they feel about the tax. What type of sample is this?
@ stratified © self-selected

convenience ® cluster

)
\O

Find the equation of a parabola with focus F(4,0) and directrix x = -3.

® y' =14(-73) © (-1 =14x
X =14(-3) ® (x-3)° =14y
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Determine which sampling method is most likely to be representative of the opinions of voters in an
election race for governor of a state.

@ Over the course of a week, poll every customer who comes into a car dealership and
is willing to answer questions.

Send questionnaires to 500 randomly selected registered members of each of the
recognized political parties in the state.

(© Call 1000 randomly selected registered voters and ask their opinions.

©

Ask viewers of the 11:00 P.M. news on a local television station to register their
opinions on the station's web site.

A square has side length x.

A new square is created by subtracting y from each side of the original square.

Create an expression for the area of the new square in expanded form.

=
"y
,

| ¥l; |

b
-

A
Y

[ 2]

I
"

[ ¥]

vl
-

=]l==]>]

[ Bofuva a1

-
b
-

| ‘i |

(][ ][~

[o](~][=][~

[ |[e][e][«

(=] A L+ ][>

13
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32

Two functions are shown.

f(x)=3x+1
g(x) =-3x-7

What is the value of x when f(x) = g(x)?

I.r"' "'\I I.-"' "\I I.r"' _"'\I I.r"' "'\I I.r"' "\I

A WA A S Yy

1[2][8) [+ )L ][]

4]s]le] [<]=]l==]>]

MO EEI M R
0 -

A probability model for a spinner with 4 unequal sections labeled 1, 2, 3, and 4 is shown. Which result is
most unlikely for this model?

2 ; é i :
=31 )7 0 ISUURN S S S :
= j NN :
80.3 {1 \\\
021 &\‘\:’%Q\\\\\ \5
£ .\ &
AR
1 2 3 4
Result
(® The spinner lands on 1 twice in 20 (© The spinner lands on 3 twice in 25
spins. spins.
The spinner lands on 2 twice in 5 spins. (© The spinner lands on 4 twice in 10

spins.

14
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Create an expression that represents the complete factorization of 2x% + 16x + 32.

ORI

28] [x

s e] [+ ]+] ]
7]8fel[<]=]=]2]>]

(ol - T[#] B[] ] e ] 1]

200 people took part in a study involving a new headache medicine. After one week, the subjects were asked
if they had a headache in the past week. According to the data in the two-way table, what fraction of the
people who were given the placebo did not have a headache?

Given Given Total
medicine [placebo
Headache | 30 20 50
No 120 30 150
headache
Total 150 50 200
2 3
® 3 © 3
3 4
- ® 3

Researchers measured the levels of fluoride in young children and gave tests to measure their intellectual
development over several years. The results show that young children with higher exposure to fluoride tend
to have lower IQ scores later in life. What can the researchers claim based on these results?

(@ There is a relationship between fluoride (© There is no relationship between

levels in children and IQ scores. fluoride levels in children and IQ
scores.
Exposure to higher levels of fluoride ® Reducing exposure to fluoride can
reduces 1Q. increase 1Q.

15
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Which of these pairs of events are dependent?
® You flip a coin and get tails. You flip it a second time and get heads.
You pull your friend's name out of a hat that holds 20 different names, replace the
name, then draw out your friend's name again.
(© You spin a spinner divided into five equal parts and is numbered 1-5. You get a 3 on
the first spin, and then spin again and get a 2 on the second spin.
®©

You remove a black sock from a drawer without looking, then remove another black
sock.

38
Two equations are shown.
dy = +
dz = +

Bl B L
Gl-li—L I"n.’ll—L

What is the value of 8, —a> + % ina+ bi form?

~
A
R
4
T

)% E )

HEIEE R

4[s]/e ||5|B|e||>

7[8]s] [#] 0] GO 11]~a]>O][n] ]
0 -

The cross section of a television antenna dish is a parabola. For the dish at the right, the receiver is located

at the focus, 4 feet above the vertex. Find an equation for cross section of the dish. (Assume the vertex is
at the origin.) If the dish is 8 feet wide, how deep is it?

16
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The path of a ball follows a
function, as shown.

w(t) = —4.9t%+ 4

Move the parabola shown to
graph the function &(t).

An equation is shown.

_ 8x°
Y= 3x7_7x+5

What is the horizontal asymptote
for this equation?

Drag the dashed line to the
coordinate grid to graph the
horizontal asymptote for this
equation.

-5 -4 -3 -2 -1

h(t)

5
——t——————t»

|
N
+—+—t—t+———t——

t

ID: A
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Consider the quadratic function
shown,

fx) = =2(x +1)?
Move one parabola onto the

coordinate grid to show the
transformation f(x) + 3.

The table of values represents an
absolute value function.

x|y

WM~ D
W~ |~ (w|u

A. Use the Add Point tool to plot
the minimum of this function.

B. Drag numbers into the boxes
and an operation symbol into
the circle to create the
equation of this function.

+

Oo~NOTU b WNRO

(@ Deieta ] Add Point e

A. Plot the minimum. ¥

R . R R R RO R

B. Create the equation. y = | I:lx OI:”

ID: A

In a bag of 20 candies, 12 are red and 15 have peanuts in them. If the events of picking a red candy and

picking a candy with peanuts are independent, how many of the red candies have peanuts?

® 3
® 6

© 9
® 12

18
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A graph is shown.

11
=1

~N

Which equation has the same minimum as this graph?
@y=—x2—9 © y=—x2—6x
y=x2+9 ® y=x2—6x

19
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Four functions are shown on the graph.

When x = 100, which function has the smallest y-values?
@ f(x) © h(x)
g(x) ® j(x

Suppose the maximum height jumped by the high jumper is 2 meters. Assuming that the jumper left the
ground at the origin and followed a parabolic path, which system could be used to write an equation of the

parabola that models the path followed by the high jumper in the form f{x) = ax’ +bx+c.

@ 0a+0b+c=0 © 0a+0b+c=0

9a+3b+c=0 3a+3b+c=0
2a+2b+c=2 2a+2b+c=2
4 2 2 2

3a+3b+c=3 3a+3b+c=3
9a+3b+c=0 9a+3b+c=0
2a+2b+c=2 201+2b+c=0
4 2 4 2

20



Name:

Kelly is completeing the square to solve the equation 2x” -32x = 10.

Which equation could be the result of completing the square?

®@

A group researching a certain vitamin instructs a group of 100 people to take their vitamin three times a
day, once with each meal. Another 100 people were told to keep their usual eating habits. After three
months, the people who were instructed to take the vitamins had healthier hair, skin, and nails than those
who did not take the vitamins. Which response describes the treatment, treatment group, and control

(x-8)° =5 © 2(x-8)°=10
(x-8)" =69 ® 2(x-8)° =74

group?

@

Treatment: having healthier hair, skin, and nails

Treatment group: the 100 people told to keep their usual eating habits
Control group: the 100 people told to take the vitamin

Treatment: take a vitamin with each meal

Treatment group: the 100 people told to take the vitamin

Control group: the 100 people told to keep their usual eating habits
Treatment: having healthier hair, skin, and nails

Treatment group: the 100 people told to take the vitamin

Control group: the 100 people told to keep their usual eating habits
Treatment: take a vitamin with each meal

Treatment group: the 100 people told to keep their usual eating habits
Control group: the 100 people told to take the vitamin

21



Name: ID: A

The graphs of f(x), g(x), »(x), and k(x) are shown.

4

Which function changes at a constant rate per unit relative to x7

@ f(x) © h(x)
g(x) ® k(x)

22



